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PHILOSOPHY
( Major )

Paper : 4.1
( Indian Philosophy )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
j for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x10=10
ooTS T epPTRd e Sepe Sed i

(a) According to Nyaya philosophy, knowledge
is a bare manifestation of

( Fill in the blank )

T T WP wWE 2 @9 TR
R |

(1 OR R )
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(b)

(c)

(d)

(e)

(6

(g)

A7/953

(2)

“When we see a river in flood and infer
that there was rain.”” Name the case of
inference.

“ e SR @3 W IRARA AR=pef o ond
cofeT wfl SEE FE @ W fifter 17 2
P AP S TS ?

How does the VaiSesika philosophy define
Dravya?
(efET wiq SR w9 2

What is the fundamental feature of Samanya
in Vai$esika philosophy?

- @RS TS ANER ey RS 2

Name the Sitra authored by Kapila.

Sfocet 641 91 @I A 2

Why the word Samkhya refers to perfect
knowledge?

AR’ 2 ¥ o B 5 o mp 39 9
What is the another name for Patanjali’s

Yoga?

G @9 = 961 = 9

( Continued )

rratd

(h)

(3)

How is Yogaja perception possible in Nyaya
philosophy?

T TS @9 e (A T84 2

(i) Why has Sarhkara accepted Brahman as
attributeless in Advaita philosophy?
7S TS MR [ e FdT I
IR ?

() Does Ramanuja accept that the world is an
illusion?
JEAFCR SO 9 el MM CeTeRe 2

2. Answer the following questions in brief :
fFafeiRe erprz vy Teq o
(a) What is SamanyalakSana perception in

(b)

A7/953

Nyaya system?

I P PR TS ger &0

What is the literal meaning of the word
Padartha?

ofaref =¥ SrFRE oy 2

( Turn Over )
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(4)

(c) Why is Akasa partless and inactive in
Vaisesika system?

ol i S o Rt wre e
Cqref 27 ?

(d) What is the character of Rajas as a guna in
Samkhya philosophy?
133 e TS @3 fRp1eet I ey 0

(e) Mention the nature of Brahman from the
empirical standpoint.

IRIRF GBS 41 TR S Teary 41 |

Answer any four of the following : 5x4=20

fafeRe ft e sifReR Tes i -

(a) Explain briefly Laukika or ordinary
perception as advocated by the Naiyayikas.
CHAPRE W 9 @MFe oy Ry
BYLF AT 01

(b) Mention the differences between the Nyaya
and the Aristotelian syllogism.

TR S S GRB B S e e o

( Continued )

4.

A7/953

(S)

(c) Explain the characteristics of atoms as
explained in Vai$esika philosophy.

@olRe ™a SR CREIE @REPER
491 |

(d) Write the nature of Purusa as explained in
Samkhya philosophy.

g TS SRS [FE P e o |

(e) Explain briefly the teleological nature of
evolution as advocated in Sarkhya
philosophy.

$2) e SIREFRME Se e ot o
R 40

() Discuss the five different modifications of
the Chitta in Yoga philosophy.

fowq <1561 RfSH T T=ocE Qe of ST
HCEALA 4 |

Explain Naiyayikas conception of perception.
How Naiyayikas explain three kinds of extra-

ordinary perception? 4+6=10

PR e e M 1 o O | | R ) | S
@A T PR SEEies dors 3941 Ff[ez 2
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Or / #1%1

Define Vyapti. How is Vyapti established in
Nyaya philosophy? 4+6=10
A ke o | I TS A e aAfed
FAF?

Explain the nature of Prakrti as mentioned in
Sarmkhya philosophy. How Samkhya philosophy
supports five arguments for the existence of
Prakrti? 5+5=10
S TS PR PO IfT T 1 ARG A
AP SYTe fran I <iwd1 Seas 441 |

Or / &

Discuss briefly three kinds of Ahamkara. How
Tamasa Aharmkadra give rise to five subtle
5+5=10
Ssed ol o™ YL A 911 ww
TP 7] (FCACA A6 ST ST Teq (2R 2

Tanmatras?

How has Patafjali defined the term ‘Yoga'?
Explain the five Chittabhimis or levels of
mental life. 4+6=10
‘@’ Xl eElE @rwa I FRCR2 S
oFd e a1 o Temz 3 31 1

{ Continued )

7.
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(7)

Or / 3

Explain the eight Yogangas as found in Yoga
system. 10

5 SRR SBRe @1R R Seemsar 941 |

How Sarnkara explains Brahman? What is the
status of Iswara or God in Sarnkara’s Advaita
Vedanta? 6+4=10
AcpqoR2 TR R et 39 s ? >iamrs
TEE (I8 TS BRI T 2

Or / &1

Explain the arguments as propounded by
Ramanuja in refutation of Sarnkara’s doctrine of
Maya. 10
=IO MARE RFea 2fedt F1 IEd e
el 91|

* & &

3 (Sem-4) PHL M 1



3 (Sem—4) PHL M 2

2017

PHILOSOPHY
( Major )

Paper : 4.2

( History of Modern Western Philosophy )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
o 2T A SepiR e ford

{a) State the name of one major work of John
Locke.

T T AR AT G A4 'S T R
(b) Idea of substance is a simple idea/complex
idea according to Locke.
( Choose the correct answer )
=9 0O TR AR 54 G/ R YR |
( % Teacn A Tfersar )
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i . 3
(2) (3)

b e k . Transcendental Aesthetic <93 JFITTS FTH
c klrilmc:l dc p os:p er :r};z said that our ‘ e Sfewerd SyE/PeN 1 @eifes
i ;\.: edge cannot reach further than our | SfSeEeR SHE 1 ASHPHRI 798 TT© |

: ( o= Teaco! A Sfrear )
UEE GRS S A1 q[ereiE e[ :
ETRIE I @R wefRrees = o | ' (i) What is ‘noumenon’?
N _ 1o e’ 2
(d) What is an ‘impression’ according to Hume?
AYTH 70 TuT (impression) 7 (/) ‘‘Understanding Makes Nature.” Name the

philosopher associated with the statement.
(e) What is the basis of our knowledge of the

) “ Qe oo el I’ (Understanding
relation between cause and effect according Makes Nature) @3 SRe(H wo® wioe
to Hume? : i %1"*’11 : 7
R 7o IR T IR T4 =1 oS 397
P ? i, 2. Answer briefly the following questions : 2x5=10
(f) Name the author of the book, Inquiry O PR B T fi

Concerning Human Understanding. (a) What are the two sources of all our ideas

Inquiry Concerning Human Understanding according to Locke?

AR fRrorerea forsee =i fors | Y Ho WHE (FIPERS (ideas) B YOI

(g) Name one critique written by Kant, S
il s critiqued T P | (b) How does Locke define knowledge?
@ o we fran ke fer |

(h) In Transcendental Aesthetic, Kant deals with

a priori forms of sensibility/a priori forms of (c) State chief point of Humean Atomism.

thinking. fZea REmE = 1 &, o

( Choose the correct answer )
A7/954 ( Turn Ove
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(4)

(d) What is simple idea according to Locke?
AFY 0O & =T N 2o f, for |

(e) What are the two features of an a priori
proposition according to Kant?

o9 ACO 9Bl SO T KoT o
fern |

Answer the following questions in short

(any “four) : ' 5x4=20

TS ] PR Beq oy fors (R e sifRbt)

(a) Write about Locke’s views on substance. 5
T3 SACE ST G9e fer |

(b) Describe impressions and ideas as contents
of the mind after Hume. Explain the
distinction between them in this context. 2+3=5

RoTe TP I Y49 (impression) W
oo 1 4R (idea) T4 TomEm 2o I+
90 | G2 FES GREFT TS 4 A1 <0<
1

(c) Furnish the list of categories deduced by
Kant from the classification of all possible
judgements made in traditional deductive
logic. 5

A7/954 ( Continued )

(5)

oIS e SEREE I -
e 4 IO DTS T AORPHET SIferl
HSRCERT |

(d) Discuss Kant’s views on the possibility
of synthetic judgements a priori in

mathematics. 5
sffee Sfower FERIAFE BT TR
o FT09 TONS SIEo=1 1 |

(e) Explain after Locke, the meaning of ‘Ideas’. 5
T PR IR AR q e’ S i
sl

(f) Are space and time empirical percepts
according to Kant? On what ground Kant
refuted the view held by Newton? 2+3=5

IO WO (P HE e Afweewm AT
(empirical percepts) 2 ? T 4HIE
FICH (P I8 AR, ol |

Answer any four of the following questions :

10x4-40
| R (@Iee mifEot 2 Teq ford

(a) Write a brief note on the chief points of
Locke’s empiricism. Do you think Locke to
be a consistent empiricist? Give reasons for

your answer.

A7/954 ( Turn Over )



(b)

(c)

(d)

(e)

A7/954

(6)

T ASTEORTE A4 RS ¢ © 9% oY
O o1 T qae Sprerd Sfseerft gfer
SRIC ? (ONF T&qq F90F IS SI5RCGHT |

Give a brief outline of Locke’s views on
general nature of knowledge.

R e 1 e M O - R e el A .
9F 59 {9 SIS |

Explain Hume’s views on causality. Is causal
relation a necessary relation? Explain.

PRI FCE RO 4= T T4 | P-4
TE GF SRR oA 0 2 001 3647

Explain the three syntheses Kant has
referred to in his transcendental deduction
of categories.

JICT (OS] A35(q ol e e TraEy
9 @ifes SR fE@m S tR e mm
HISCEH] |

Explain Copernican revolution effected by
Kant in connection with his explanation of
the process of knowledge.

G\ A T OO SRR R

CRES FITH oA T4 F ARFFOR Red o
T SSICEAT |

( Continued )
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(7)

(f) Write an outline of Hume’s philosophy. Can

Hume be called a sceptic? Discuss.

BoIR ™ T o1 e WEGH] | ReTs
ScRdm el 79 #f41 IRCA 2 ALl F1 |

* X %k
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